PC 11.4 Practice Solutions.notebook

April 02, 2015

11.4 Double and Half Angle Identities

Directions: Tell whether each statement is true.
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fose — Aned

oo = Qs Ub‘\/\

11

2) cos(70°) = cos’35° - sin” 35°
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3) tan — = Lﬂ
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False...half of 140 is 70 and that is

in the first quadrant. Tangent is
positive in the first quadrant.

Directions: Find the exact value of the given function.
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Directions: For #10-13: If cos 8 = —% and x is in Quadrant II, find each value. Draw the reference
triangle. TN
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Directions: Verify the following identities.
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Directions: Solve the triangle.
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